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ENGLISH VERSION
(1 (a¥1) Explain vector product of three vectors.
{b}{1)Explain geometrical interpretation of

scalar triple product
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(2) HA=57 — 7]+ 2k, B= 41-3]+ 3k, and

7 =27+ 2] -5k thenFind B x {{x"4) and
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u1 {a) Explain scalar triple product and rotational behavior of
scalar triple product.
(b} Prove that,
A x(BxTh Bx(CxA) + x (AdxB) =0
(:2 Derive rélation between the elastic constant ¥, K, n,and o.

OR

(:2 {a} Obtain the equation of coﬁple required to produce unit
twist in wire.
(b)Write short note: Poisson'’s Ratio.
Q:3(a} Explain Jamin's Interferometer in detail.
{b) Explain construction of Nicol prism.'

OR

[07]

[04]

[03]

[04]



Q:3 Explain principle, construction and working process of Michelson

 Interferometer and explain the types of fringes obtained through it.

(:4 Explain the formation of Newton's ring and obtain the
squation of ring ‘s diameter and wavelength of incident light.

OR
{14 {a) Expiain thin film and obtain the condition for interference due

to refleted light.

(b} JExplain double refraction .

05 (a) Explain isothermal and adiabatic elastic constant of gas .Devive
| necessary equation for it. Prove that adiabatic elastic constant
of gas is ¥ timeé more than isothermal elastic constant of gas.
- {b) {1)Length of the wire i3 Z,Om; diameter and Young Modulus
0.8mm. and 20X 10! dyne/cm? respectively. If 5Kg of
. ‘weight is attached at one end of the wire, then find out the
extended value of the length..
(2) For Poisson’s ratio, prove that —1 < 0 < 0.5.

OR
(Q:5 (a) Explain reciprocal vector and surface area as a vector.

(b} Explain Youngmodulus , Buliimodulus. and

modulus of rigidity.



